® x=-4

14

3x—4 = x
6 4 3
2(3x—4) + 12 = 3x— 56
6x—8 + 12 = 3x - 56
3x = —60

Sox=-20
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@ (=3)x4+6 © (=24) = (-12) x (-1)
© 6+ (-2) x4 ® 14+ (=2) - (-5)
® 9,0 @ © e ® &,0,©
@ 3,0,© ®a,0.6 0

O (-12) + 6 = -2
©2x(-1)=-2

© 6+ (-8) =-2

@ (-7) + (+5) = -2
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2a + x

2

©)

=2x+1 9 37k &= m,

® 5

1) 3x-15-2x+1=-12
Lx=2

i) 2a+x=4x+2
2a =3x+ 2
x=2E W YJstH
T a=14
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4x + 2 = 8x




